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Sociology

Paper 1II

HHTSTITEA
gyAutreRt 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U 3TRd. W YEA dredl

GO : I YIAARhd THY 9IS (100) sguaEl 799 foel 3fed. Toish Teen g (2)

When a political party or an ideology
hegemonize every aspect of society—
social, cultural, political, economic,
it may appropriately be termed
AS reeeeeerireeeenns .

(A) Authoritarian
(B) Totalitarian
(C) Democratic
(D) Despotic

The Supreme Court in its recent
judgement scrapped section 497 of
IPC dealing with .................. .

(A) Honour killings

(B) Adultery

(C) Child sexual abuse

(D) Harassment at workplace

“Large scale bureaucratized
production of cultural products for
masses” is termed as .................. .

(A) Mass culture
(B) Global culture
(C) Digital culture
(D) Culture industry

1.

TERl gy fodl faerEon Saewd
ST Foi UejeR — SHIfSTeh, Hikehiceh,
TSR, STdR-gYe TSiadrd.  JTel
.................... e s e

(A) TehTTEhRRETE

(B) Hwvanct

(C) eI

(D) TRz, et

gaied =TI STellehedl WA
cedfed=al &a¥q 497 faw=n e
....................... ﬁw 3T|%‘,

(A) R fefan

(B) =ATYER

(C) 9 WifiTeh TER

(D) = fShl Sose[eh

" e faen IR HIGT THIUM Aiehi-

W W N [ X}
QRN SRS shelel 3careH

Y TEUr.
(A) SN H&hdl

(B) dfyas Tt

(C) TIUThigha F&hdl

(D) §&hdr &M

[P.T.O.



Which of the following perspectives
views family structure as patriarchal ?

(A) Marxist feminism
(B) Liberal feminism
(C) Radical feminism
(D) Cultural feminism

According to Durkheim which of the
following is the earliest form of
religion ?

(A) Naturism
(B) Animism
(C) Environmentalism
(D) Totemism

According to which theory universal
laws govern all areas of human
thought ?

(A) Structuralism

(B) Functionalism
(C) Post-modernism
(D) Post-structuralism

Which among the following is not
specifically associated with the
‘rural’ ?

(A) Low density of population
(B) Local self Government
(C) More self reliance

(D) Predominance of primary group
contact

JUN - 14219/I1—B

WTCATCTIh! SRV G2 FHeaTel e
qe0 GYE SR IH HEdl ?
(A) HEEaE! Bfterg

(B) I"RAAART HHaR

(C) STEITHdaRT Sde

(D) TiEhfds SiaR

SIEM IT=A1 T WeeTeh! & e
1 ®9 R ME ?

(A) Frefare

(B) SATcHEIR

(C) e

(D) HATTIhag

o TagagaR dfvaes f=m § Amel
fomm=ht wd &3 ffa waa ?

(A) FTEETE

(B) WhHEER

(C) IW-AYTehdraTe

(D) SW-GEAERE

Eeereh! Shrord e foersem ‘ aror’

3t Secten A& ?

(A) TRTEIET FHH ATAAT T
(B) Tifier wRsT wEe
(C) 3f¥er s

(D) WufHe g Fa9™ W&




10.

Almond and Verba classify political
culture into three types. Select the

correct answer from the following :

(A) Parochial, Subject and
Participant

(B) Participant, Active and Civic

(C) Local, Regional and National

(D) Parochial, Regional and
Universal

Which one of the following is not
Particularly Vulnerable Tribe in

Maharashtra ?

(A) Katkaria (Kathodia)
(B) Kolam

(C) Manner Warlu

(D) Maria Gond

Which is not a feature of pre-

capitalist mode of production ?

(A) Production for use rather than

for an exchange

Rent in kind rather than in

(B)

money
©)
(D)

Petty production

Generalised commodity

production

10.
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T TR SHeR0l shel 3118, TTeieTeh!
Iy I e
(A) Tgrrafaett, Jsmee ST wEvrtt
(B) BN, Wehta o1 AT
(C) wenfer, wiefersh emfor asdr=
(D) TrTfafTeret, weften enfor afveas

TERTSSTE WeiieTdehl ShIvT ST fargrs
e ST @ ?

(A) HraRiE (FH13fea)

(B) =hie™

(C) AR &R

(D) = e

TCITCUh! hIvd HIESTAME! Jo IA1GH

o afreg @ ?

(A) TaHFmEE! Scaes TgH SUHTETS
Eiice]

(B) T e A SREU WIS

(C) <8 HHIUd IcdlgH

(D) 9H=iThd o%] Scare

[P.T.O.



11.

12.

Given below are two statements, one
is labelled as Assertion (A) and other
as Reason (R) :

Assertion (A) : In  traditional
societies, sexuality
was tightly tied to
the process of
reproduction,
where- as in
modern societies,
it has been
separated from
reproduction.

Reason (R) : Historically, notions

of gender have
always remained
static.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true, and
(R) is correct explanation
of (A)

Both (A) and (R) are true, but
(R) is not correct explanation
of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

The notion of Time-Space compression
is articulated in the context of :

(A) Feudalism
(B) Space age

(B)

(C) Industrialism

(D) Post-industrialism

11.

12.
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et g9 faum foelt med, da T

TR (A) 3T S TR FRW (R)

e

Qidures (A) : IRIRE FHISTHE TRl
qAECATE AT HishaeRIaN
T2 SEeiel B, T
sy FASTHE, o

ERLITICEIC | I ER RIS

forer gmerett ST

Wfceregeean, fammart

HedA TeH TR Tl

R

Tefiel Gehdris! 4rg S faer

Hehdiah :

(A) (A) 3T (R) Il SIS 3ATed 3101
(R) T (A) o Ird SIS0 3718

<ot (R)

-~

(B) (A) 3fur (R) St shIsR 3Ted T4
(R) § (A) ¥ 97T T[ehul el

(C) (A) s 38, g (R) I 3T

(D) (A) 9% 38, W (R) X 3T

FHA-TIA RTT Bl HeqT HeTAT

Heulq dieel 3 ?

(A) TLSTHIMEL

(B) *Ta®®1

(OREIRIREIETE]H

(D) S-SR R oTaTe




13.

14.

15.

16.

According to Max Weber Hinduism
was unable to produce rational
capitalism because of its emphasis
[0)'s EUUURR .

(A)
(B)
()

This worldly asceticism
Other worldly asceticism

Rational calculation on food
expenditure

(D) Emphasis on agriculture

In which two forms A. R. Radcliffe
Brown has divided joking relations ?

(A) Symbolic and Instrumental
(B) Cultural and Social

(C) Symmetrical and Asymmetrical
(D) Functional and Non-functional

Panopticon in Foucault’s analysis of
surveillance focusses on ............... .

(A) Corporal punishment
(B) Self-discipline

(C) Disciplinary society
(D) Confinement

According to whom, the public
sphere was a place in which people
could meet and have critical debates
about public matters ?

(A) Jurgen Habermas
(B) Anthony Giddens
(C) Manuel Castells
(D) Michel Foucault

13.

14.

15.

16.
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(A) difher T faRaraTs

(B) URciIfher STl foRerrang

(C) IEdA W= difeher TUH

(D) FHiEeRdt

T R {Efoa®w s g foqern
T fI9SH v €9 TeNid sl
e ?

(A) YdlehTeqer SO ey

(B) GiEnfas offor |

(C) wwfHet 3mfor srwfda

(D) FMEHE T SThTACHR

! ATAT Tldaid  fagarsomaed
JAMSIhiTal WX HIMR Q2

(A) TR foen

(B) &-3{3RmE
(C) STIRMEAIHS HHISI

(D) =<
IV T TASI+eh &5 TgUTS! 373f SIrm

H AT e WL IERA o HESITHR

TedTfasT Tafehaes aRfaarR Hidaa ?
(A) A geE™E

(B) ot firew

(C) AU hrecH

(D) THRIAT el

[P.T.O.



17.

18.

Survey is used as a method of data
collection in which information
cannot be gathered through ?

(A) Oral questions
(B) Written questions

(C) Combination of oral and written
questions

(D) Observation

Given below are two statements, one
is labelled as Assertion (A) and other
as the Reason (R) :

Assertion (A) :Service sector in
India is known as
the

growth engine.

economic

Reason (R) : Service sector’s
contribution to
economy is higher
than the other

sectors.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation
of (A)

Both (A) and (R) are true, but
(R) is not correct explanation
of (A)

(A) is true, but (R) is false
(A) is false, but (R) is true

(B)

(®)
(D)

17.

18.
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T & T ST SRl e e,
feame Hifsdt Seer o
FA W@ AR ?
(A) Hifes w9
(B) fafed uv=

(C) Tifge st fafed ye-r TRt
(D) Tigon

Gt §F a1 footel! 3Ted, Tehld HiquieH
(A) FeEe T R A (R) Faeat
AR

gfqured (A) : YRAda ga1 &F §
qRArsal  Tfsgaeda
o v SleEd S
DTS AT 37—
Al del B S

AT T TR

@l feetean ehdrear SR sk ST

aer

F@H’I'T:E :

(A) T (A) STfoT (R) € SRIeR Td
M (R) & (A) = 3Tk T
3T

(B) &l (A) 01 (R) & Se 3718 T4
(R) § (A) 9 TR TSR0 T8l

(C) (A) ¥ s 318, g (R) T I
3T

D) (A) & g% 3R, W (R) § SN
3R

%Rl (R) :




19.

20.

In a market economy, economic
activity is conducted by ............... .

(A) Individuals

(B) Individuals and companies
(C) Caste groups

(D) Government

Match the List T with List IT and
select the correct answer from the
codes given below :

List I (Author)
(@) Radcliffe Brown
(b) Levi-Strauss
(¢c) Robert Merton
(d) Malinoswki

List II (Book)

(1) Social Theory and Social
Structure

(2) Structure and Function in
Primitive Society

(3) The Elementary Structures of
Kinship

(4) A Scientific Theory of Culture
and other Essays

Select the correct answer from the
codes given below.

Codes :

(@ ®) () ()
A 2 & @ @
B 6 @ @ @
e @2 B Q1 @
D 1 @ G @

19.

20.
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ISR Tefeggeaned, orfefss foan
HIUMRST IR qrecll Sd ?

(A) =TT

(B) =Tat omfor shu=m

(C) St 998

(D) &R

et 1 3mfor et 11 Heitel SeehT=an Sire
(el o el eered] HehdiehmYd
I o=t

et 1 (@)
(@) {SFAH TS
(b) <eE-wIE
(c) Va2 weA
(d) HelHrent
et 11 (&)
(1) ¥Fe 98 3fe AR WaFr

(2) WFR 3T ®wRM 9 HUHEe
gt

(3) T UfeTHelt wamd o e fohAviy

(4) T Tafeire fasrl Afh weer i~
T TES

Trelt fooiean FehdishmeA A 3™

IREEINR
Hehdleh :

@ &) @© @
@A 2 B @ @
B 3 @ @ @
© @2 B O @
D 1 @ 3 @
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21.

22.

23.

24.

Reforestation is closely associated
with ..o .

(A) Tree plantation

(B) Agriculture

(C) Cutting down of trees
(D) Horticulture

Which one of the following is a
characteristic of quantitative
research ?

(A) Value bound inquiry
(B) Inductive
(C) Deductive
(D) Interactive

Who is associated with the book
entitled ‘The German Ideology’ ?

(A) M. Weber

(B) E. Durkheim

(C) K. Marx and F. Engels
(D) G. H. Mead

If unequal development in a region
leads to mass movement for political
autonomy in the region, what can
it be appropriately called in Merton’s
paradigm of functionalism ?

(A) Latent function
(B) Latent dysfunction
(C) Functional alternative

(D) Manifest function

21.

22.

23.

24.
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(C) J& Hal/dreul
(D) osdm

TEATCHS YA Weieish! HhIvwM
St am® ?

(A) Hearaia

(B) formATcHeR

(QREREEIED

(D) SATRIHATHS

‘<t SR STrEtatsi’ A1 Tereh v Hafkd
R ?

(A) TH. IR

(B) T efEm

(C) &. Hd o1 Th. Wiew

D) . T He

= Yehrdde! I AENIHR e
YISLTHE BIUTA1 STHAM fahar Sl

T 9T USTeh 19 WERIdETo= dldh

Teodcsd Bid, ATl 1 FRU 2

(A) 319k HEA

(B) 3T9&he ATk
(C) wElcAs 9919
(D) T HHE

10



25.

26.

27.

Who is the author of the book, “The
Second Media Age” ?

(A) Mark Poster
(B) David Holmes
(C) Mc Luhan

(D) Daniel Learner

Transnational corporations are
not ........ceeeee. .

(A) Companies that operate in more

than one country
(B)
©)

Regional in nature

At the heart of economic
globalization

(D)

Instrumental in diffusion of new
technologies

Which of the following statements
is incorrect ?

(A) Sample cannot be used as a
complete coverage of the
population for research

(B) Studies based on sample require
less time and produce quick

answers

(C) Samples offer less detailed
information and low degree of

accuracy

(D) A sample is studied for drawing

conclusions about the

population or universe

25.

26.
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‘T dre fHfea T’ 1 qHIHE @S
FIU ARA ?

(A) Hh IR

(B) e=ie T

(C) "o ggH

(D) SFEa TR

ST HI=T TGUTS!

(A) TehTUET 3Tfeeh SRMHE hERA STEUIFT

BRI

(B) ¥ W®Y YR 3THd

(C) afifefer STMTfeh TehTu=aT  Sho T

(D) T Ao TR e

27. Eeiads! ®UM fou g eme ?

(A) SRS Hereeren T st fava
Bzl

(B) THAAER YR ST R

3 ANl Ifid SR fHesard

(C) FH=AA Mewh Alfed! fHad o

SR YA HHT 3T

(D) favarfasei= fashs SHeUaEE:

THATET ST AT

11
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28.

29.

Given below are two statements, one
is labelled as Assertion (A) and the

other as Reason (R).

Assertion (A) : Divorce rates are

on the rise.

Reason (R) : People are loosing

faith in the
institution of
marriage.

Select the correct answer from the

codes given below.
Codes :

(A) Both (A) and (R) are true and

(R) is correct explanation

of (A)
Both (A) and (R) are true but

(R) is not correct explanation

of (A)
(A) is true, but (R) is false
(A) 1s false, but (R) is true

(B)

(®)
(D)

‘Cybernetic hierarchy’ has been used
by e .

(A) R. K. Merton
(B) T. Parsons
(C) M. Foucault
(D) A. Giddens

28.

29.
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et g faum foeft emRd. TH SR
JIqUIRA (A) T TW 31 &R (R) :

gfaureT (A) : TSERIEET <L aadl ..
FHROT (R) : foaregwdmeiar et

A5 Tad dree! ..
i

(A) (A) 701 (R) TFal SRR 3TTed ST

(R) B (A) 9 Iy TqSRI0 3T

[a ha

(B) (A) 371 (R) SI=T sRIeX 3TRd 9=

(R) § (A) = A7 TR =
(C) (A) SR #18, W (R) IF 3T

(D) (A) =% 378, R (R) TR 3

‘TEEfcR SRR B HeheddT vl
el ?

(A) 3. . HH

(B) Zfetshie urE

(C) WH. Rl

(D) ©w firew
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30. Who has written the book “In the | 30. ‘7T deit 3ifh § e : e HiMlUcER
Over Development in Narmada SEE w7
Valley” ?
. (A) dfeem ‘:Taic_'il
(A) Patrick McCully .
(B) Ramchandra Guha (B) T
(C) Medha Patkar (C) Hem THEH
(D) Amita Baviskar (D) AT STefER
31. Which one of the following is not a | 31. ®HI=a Hd T HITd g3
feature of power according to ofyreey A 2
Foucault ?
(A) 3cqiceh
(A) Productive )
(B) Capillary nature (B) <hIEM@ATIHN AHcTl W&Y
(C) Zero-sum (C) #ra-wH
(D) Constitutive (D) Tfed
32. e, is the mental acceptance | 32. fafyrse Mt a1 =1 fovar 9 STTeIT=
that certain things are true or real. qAfge TR a0l TorS
(A) Value (B) Belief o
(A) g (B) #gl/fogamd
33. Depeasantization refers to ............. . PPN ~ N e
33. TARHERIU H=d hid
(A) A shift towards commercial A
agriculture (A) U e B 95
(B) Migration from rural to urban (B) TTHOT @ T TR
(C) Rural industrialization (C) T SEhfEET
(D) A shift from agricultural - N R -
>
occupation to non-agricultural (D) T STERA eH MERL
occupation ZEHEhe BN d&d
13 [P.T.O.



34.

35.

36.

317.

Research ethics are based on ............ .
(A) Morality

(B) Ethical codes of research

(C) Objectivity

(D) Religion and ethics

Who used metaphorical investigations

to study everyday life of people ?
(A) Erving Goffman

(B) Harold Garfinkel

(C) Thomas Luckman

(D) Jeffrey Alexander

Which one of the following is not a
Mega City as per census 2011 ?

(A) Greater Mumbai Urban

Agglomeration
(B) Delhi Urban Agglomeration
(C) Bengaluru Urban Agglomeration
(D) Kolkata Urban Agglomeration

‘Broken Men Theory argued that
Buddhists became untouchables,

who proposed this theory ?
(A) Irawati Karve

(B) S. V. Ketkar

(C) G. S. Ghurye

(D) B. R. Ambedkar

34.

35.

36.

317.
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AT ST STTeFT 319 TS

-~

el ?

EhTHSE TS0 A9 SRV
(A) Wien e

(B) ice TRihsd

(C) 9™\ g

(D) St sTrRITeT

2011 =1 STUHTAR TTeiedehl shIvwd
RN A ?

(A) FETHIE Bl =T (ST
(B) feeeft v&d T =™ (STmy)
(C) ST ¥redl T (STelHer)
(D) hIcTehRTdl STB0 TR (STAMEH)
‘iR F9 Tt =1 STER Wils § oTeed
. @ foagia sl fafeen 2

(A) Tl e

(B) TH. . el

©) <t wm i

(D) &t IR 3TEEH

14
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38. The most important research aid in | 38. TRI@HEY " T Tad Hee@r
Ethnography is .................. . TINEA WEF 3R,
(A) Camera (A) ST
(B) Field Diary (B) &g Jifeit
(C) Interview Schedule (C) Harerd AT
(D) Coding Manuel (D) Hehayfreht
39. Ethnopharmacology is at the | 39. s 3o g =1 fHem®
intersection of ................... . ..
(A) The ethnology, biology and (A) AHa St fomm, Sfteemes sfur
pharmacy SRR NIEe
(B) The ethnology, physiology and (B) A4 St fae, SRR ST
pharmacy SIEBIE R LNIEe
(C) Anthropology, biology and (C) HHaYTE, Samest i Sfioe-
pharmacy EEIENIE
(D) The medical, natural sciences (D) dTswhene, Aufiwere afo
and social sciences AT
40. What should the researcher avoid | 40. ¥ TR HIAHT FENERM FE esed
while framing the questions ? aifest ?
(A) Use of simple words (A) e SRl aTa
(B) Specific questions (B) fafere weA
(C) Words . with emotional (C) wafs Tfifad s v
connotations o
(D) Symbols for reply (D) 3AUHET Ficehr=l dMIX
41. Select the incorrect pair : 41. genrdt SEt e
(A) Cluster Sampling — Probability
Sampling (A) HHEYS TG — HHE A
(B) Quota Sampling — Probability )
Sampling (B) <RIl THAT — HHEHA THA
(C) Convenience Sampling — Non- ~ )
Probability Sampling (C) gfaers= T — TR-gvrearan T
(D) Purposive Sampling — Non- .
Probability Sampling (D) W& TN — TGl T
15 [P.T.O.



42.

43.

44.

45.

In Anthony Giddens’ theory of
structuration, primacy is granted
£O e, .

(A) Structure

(B) Agency

(C) Habitus

(D) Structure and Agency

The new economic system based on
flexibility, specialisation and tailor-
made goods is known as ............... .

(A) Fordism

(B) Post-Fordism
(C) Socialism

(D) Post-capitalism

According to whom, the ‘nuclear
family is merely a stage in the joint

family cycle’ ?

(A) G. S. Ghurye
(B) I. P. Desai
(C) M. N. Srinivas
(D) A. R. Desai

‘Sweatshop’ is the term wused
for .oovveeeienns .

(A) Bonded labour
(B) Agricultural labour
(C) Secure working conditions

(D) Subcontracting system of labour

42.

43.

44.

45.

JUN - 14219/I1—B

et e~ Irean Trerish o= fagiame,

e, ferRreerTor snfor TSfer
ek TR ST el SAeferereden
.................. L'E’UJ.\'-' d{‘\lod@,l(’i Gﬂﬁ

(A) HIEaR

(B) IW-WEAR
(C) FHISER

(D) IW-TETAAR

FIUTAT TA, GH ReATAT FhATd
favwe sga & TH SR e’ ?
(A) . wd ¥

(B) ™. Wt TEE

(C) . w. #ifvem

(D) T 3R. <HRE

‘fucsauhier 3Meia wREm™’ 7 I
RISICICIEIGISIGIA

(A) Saferdt

(B) Ff% Hafaa =M

(C) hraTel gfara afifeerdt

(D) ST YR ACIHIOMET el

16
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46. Who distinguishes between | 46. Gre@ER MU TeEaE AHE W i
‘relativism’ and ‘relationism’ ? Sl ?
(A) A. Schutz (A) T A
(B) K. Mannheim (B) . Haf=H
(C) H. Garifinkel (C) TI. TRfh&A
(D) E. Goffman (D) T THEA
47. Sustainable development means : | 47 yyeq fammm woy
(A) Frugal living (A) |18 TRUIHN
(B) Growth (B) dT@
(C) Elimination of inequalities (ORELLEGE ﬁlj:mq
(D) Renewable and equitable use of (D) TR0 ST FETEAE TR
resources AR
48. Which one of the following is not a | 48 WATeTieh! ShIVTT Teh TS TGAT A& 2
probability sampling ? R
. : (A) WS aFgfessh THA
(A) Simple random sampling
(B) Optimum allocation sampling (B) A ey TGl
(C) Judgement sampling (C) frofarcer g
(D) Area sampling D) &5 T
49. Most people marry within their own, | 49 qEHET Ak ATed WA= a9y, o,
rac.e,. class, .l.eve.l of educa'flol.l, T R [T J e
religions affiliation etc. This is (| S
known as ................... . gl : '
(A) Endogamy (B) Hypogamy (A) dfeiarg (B) wfaeim foame
(C) Homogamy (D) Hypergamy (C) wwH! foemg (D) e foeme
50. What is the rank of India according | 50. fawwar v A WRATE Sof
to Inequality Index ? FIU AR ?
(A) 147 (B) 115 (A) 147 B) 115
(C) 103 (D) 130 (C) 103 (D) 130
17 [P.T.O.



51.

52.

53.

54.

‘Bow and Arrow’ ceremony is
performed for which of the following
reasons ?

(A) To capture brides
(B) To find grooms

(C) To give societal acceptance to
children

(D) To hunt food for the family

‘India has missed the industrial
revolution, but can’t afford to miss
the knowledge revolution, has been
asserted by :

(A) Education Commission of India
(B) Knowledge Commission of India
(C) Industrial Commission of India

(D) Agricultural Commission of
India

Who gave the term “The Culture of
Poverty” ?

(A) Louis Dumont
(B) Robert Merton
(C) H. Spencer
(D) Oscar Lewis

For which type of research
hypothesis building is not
mandatory ?

(A) Quantitative Research

(B) Qualitative Research

(C) Survey based Research

(D) Research based on large data

51.

52.

53.

54.
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‘gge emfor U’ HRY WTefierie]

HIVET FHRES HEN A ?

(A) YA hHosll HITAHR!

(B) o TNY0rEme

(C) TUT qHETfSIeh Wehd! SUATETS!

(D) FHeaEESt = fHeamen fFrer
EZLRIEIC]

TRA SN Shict gehdelt T I

ShIcHt geheartl TLESUIR ATal 374 forem shioft

%ol ?

(A) 9RdE fagor smEm

(B) WRdE M M

(C) YRAE Sieaifieh 3man

(D) YR FEt ST

‘T FeeR SN oied (Sieare &) !

T Teheudl U WEE ?

(A) qE =IH
(B) T A
(C) To TR
(D) 3E oag

(B) TUcHe: HIEH
(C) TAeumer fenfia |ene

(D) Y qLIHR AT ST F9NeH
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55.

56.

Who is the author of the book
“Affinity as a Value : Marriage
Alliance in South India, with
Comparative Essays on Australia” ?

(A) Claude Levi-Strauss
(B) Rodney Needham

(C) Louis Dumont

(D) A. R. Radcliffe Brown

Match the List T with List IT and
select the correct answer from the
codes given below :

List I (Concepts)
(@)
®)
(c)
(d)

Folkways

Abstract Norms

Ascribed and Achieved Status
Law

List II (Authors)

Kingsley Davis

Ralph Linton

(1)
(2)
3)
(4)

Select the correct answer from the

Harry Johnson
W. G. Sumner

codes given below :
(@ B () (@
A @ @ @ 3
B @ B @ @
< 2 & @O @
D 3 O @ @

55.

56.

JUN - 14219/1I—B
“OIftRMTE TS o ey TR ST
T 99 gfedn, fag weRfess TS
3 sfeferan’’ a1 &Ik oielsh <hivl
IR ?
(A) FAE TTRI-Td
(B) Ve frgm
(C) g gHI
D) T AN Efr® oA
et I 7o 2t 11 Hefiel Seshi= Siean
S[eeall & 1 W feredl Hehdishlqd ard
g faer
Tl 1 (Hehedr)

[SIERKII
() e FEE
(c) <Aftq emfor sifsia gt
(d) hrI<T

Tt 11 (1)
[EAS e
e fefe
(3) & S
(4) = St TR
Erelt fodiean Sehdishmy i I
IREEINE

(@)
(A) (4)
(B) 4)
(C) 2)
D) 3)

(@)

(1)
(2)

®)
(2)
3)
3)
(1)

()
(1)
(2)
(1)
4)

(d)
3)
(1)
4)
(2)
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57.

58.

59.

60.

61.

How many most polluted cities of
world are in India out of top ten ?

(A) 6 B) 7
© 9 D) 5

A model which looks at power as
dispersed among many competing
groups is known as .................. .

(A) Power elite model

(B) Pluralistic model

(C) Marxist model

(D) Democratic model

Which of the following sociologists

has worked on the idea of networks
and flows ?

(A) Beck (B) Ritzer
(C) Giddens (D) Castells

Functionalist perspective to power is
put forth by .........cooeeeee... .

(A) R. Merton (B) T. Parsons
(C) K. Marx (D) M. Weber

Which one of the following is true
about observation as a tool of data
collection ?

(A)

quantitative generalizations on
the results

(B) information about past and

future

€

provides information when
other methods fail

(D) quite essay and a time-saving

method

57.
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59.

60.

61.
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ST 9= 10 Hald S ggfod
TR WRARA fohd! TR= FHTeeT
;e ?

(A) 6 B) 7

€ 9 D) 5

TS T HIO HHEHE Tl el
e el Sd ¢ YEUIR YTEy
U 3ol .

(A) FE SAfUSH gEq
(B) IgHRAR! UEY

(C) HeaR! Uey

(D) AhIRIERT UreY

ATk IOl FHTSIIERM S
(Networks) AT 9am® (Flows) AT
Ghoqdial & hel AR 2

(A) S (B) fer

(C) fireH (D) e
N - .
HIEA

(A) 3R 9 (B) <. U=
(C) & W (D) TH. IR

T Hehel e Higq wUA et

e WTeAterdeh! hivd faem sleR

AR ?

(A) TRUMHR HEAHE FHRIR

(B) WdehTes 3MIfv1 wfersarhreatfearsrelt wfeet

(C) 3 Ugdl Tqaefl STearar Hifgdt
T

(D) 3Td gt emfor sesell a=rd Loy
EEG]
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62.

63.

64.

65.

66.

“Social sciences have created docile
bodies and subjected minds”. Who
stated this ?

(A) Lyotard
(C) Mannhein

(B) Berger

(D) Foucault
Diaspora by definition share :
(A) Language (B) Region
(C) Homeland (D) Religion

Who stated that, “Community is not
list of tools and customs, it is an

integrated whole” ?

(A) Zimmerman

(B) Robert Redfield

(C) Miltan Singer

(D) George Simmel

Which of the following does not refer

to sociological understanding of

‘status’ ?
(A) Rank (B) Prestige
(C) Ego (D) Lifestyle

skills
dispositions by an individual is
called :

Ingrained habits, and

(A) Agency
(C) Growth

(B) Habitus

(D) Development

62.

63.

64.

65.

66.
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gt STE fAfss IRR 9 e
T fmio el ® &0 Wed ?

(A) AR (B) @SR
(C) TgEH (D) &
HAYHAT, WIS ANTRGHE |eftd

SOl U THM ATl ?
(A) reT (B) WeW
(C) St (D) &d

TCAedeh! IV ‘TS 31 e EIEd

0T W= Il TgH, @ Th THIcAS
Y AR’ 8 yfqued @ ?

(A) ST

(B) Ve Efhes

(C) fheed faR

(D) Sifsl fawe
WATCAURT IV B2 ‘Tl A1 Fehed =l
TANETEE a7d T & A& ?
(B) wfdsar

(D) Sieggdt

(A) &

(C) &’

I ST W, ShIvTed, Wi i

U ?
(A) Hdgur (B) wfeeg
(C) T (D) fam
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67.

68.

69.

70.

71.

Measure of dispersion that is
extremely useful in correlation
analysis iS .................. .

(A) Range

(B) Interquartile range
(C) Mean deviation
(D) Standard deviation

Identify the place that caters to users
with commonality of interest and
showcases one’s own interest.

(A) Network (B) Niche
(C) Gateway (D) Bill-board

Which one of the following is not a
characteristic of lineage ?

(A) Consists of several families
(B) Common residence

(C) Totem

(D) A known ancestor

In his study of religion, Weber
focuses on which type of ethics for
the rise of capitalism in the Western
Europe ?

(A) Calvinism (B) Pietism
(C) Methodism (D) Spiritualism

Who was of the view that the Indian
tribes were like backward Hindus ?

(A) M. N. Srinivas
(B) A. M. Shah
(C) G. S. Ghurye
(D) Y. Singh

67.

68.

69.

70.

71.

JUN - 14219/I1—B

AR WA Ad ST TR,
(A) ==t

(B) STR-wqedeh =T

(C) \eA fomrety

(D) wwifor fererer

gt fequsereion Hfeaa fea
TS ATehcar=a1 TSshTome h1e

/U 7 O Al
(A) ST (B) f=/=mau
(C) YeRIgER (D) focEre

AT 0 GITRRE  afyreey
& ?

(A) 3% FHeaER AHMRA

(B) ¥°M fHameeem™

(C) 2w

(D) @ S

daR AT @TEAT gHiada 31T

Ty=mE U eaaaReEn 364
TISE SHIATT hIUTT T Tifaaxaie

W feen e ?

(A) wfceedare  (B) afaenftishdreng
(C) fraverR (D) AR
ETATAdeh! HIUTE Hd BId ohl, WA
sTfeardt ¥ ArmEee feg smed ?
(A) TH. . gifras

(B) T T v

©) . T i

(D) =m. f&qm
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72. Which one of the following is not a | 72. TIclcadeh! IV ST e IS
feature of caste system ? qrEr ?
(A) Exogamy (A) SRfaE
(B) Ritual hierarchy (B) fasfid .
(C) Purity and pollution c sfin
(D) Division of labour based on ©
ascription (D) Afdaer snaRa smfaasH
73. Match List I with List IT and select | 73. 3t I affor It 11 Seear 7T feeren
the correct answer from the codes GehdishTae[ o SW faer .
given below : S )
List I (Author)
o (@) wIRET HE
(@) Maria Mies
() Leela Dube ®) et g
(c) Aileen Ross () T W
(d) Prem Chowdhary (d) Fm =
List II (Books) et 11 (TEhR)
(1) The Hindu Family in Urban (1) T fog wikeh 37 o [fen
Setting ©2) T =ee e
(2) The Veiled Woman 3) TIREE
(3) Lace Makers of Narsapur @ faie ofe et
(4) Women and Kinship e
Hehdich :
Codes :
@ ® © @ (@ ®) (© (@@
WG @ O @ @6 @ O @
B @1 2 G @ B O 2 & @
@ O @@ 3 < @ @O @ O3
D 2 B @ @D D @2 & @ @
23 [P.T.O.



74.

75.

Data on disability was not convassed

in which of the following years ?

(A) 1981 (B) 1991

(C) 2001 (D) 2011

Given below are two statements, one
is labelled as Assertion (A) and the

other as Reason (R).

Assertion (A) : The process of
Globalization
leads to increase

in inequality.
Reason (R) : Developed nations
are exploiting the
less developed

nations.
Select the correct answer from the
codes given below.
Codes :

(A) Both (A) and (R) are true and

(R) is correct explanation

of (A)

(B) Both (A) and (R) are true, but

(R) is not correct explanation
of (A)

(®)
(D)

(A) is true, but (R) is false
(A) 1s false, but (R) is true

74.

75.

JUN - 14219/I1—B

faeranmfaset sTheard @relierdi

I O SHT Shell Aegdt 2

(A) 1981 (B) 1991
(C) 2001 (D) 2011
et feetean € faemiiest T giaures

(A) A A TW T (R) AF TS

gfaures (A) : SRR Lom=t feha

& famaued A T
3TITGI.

s (R) : fowfaa w2 & &t
faefad Tsei= SO
Hild e

Tt fSoied] Hehdiehlqd A S eg

.

Hehdieh :

(A) (A) 37T (R) SIFal sIeR 3TTed STfor
R) B (A) 9 I TR TR

(B) (A) 71 (R) S!S 371ed 90
(R) ¥ (A) 3 Irg TR0 TG

(C) (A) s 38, g (R) I 3T
D) (A) I 3%, g (R) TR 37
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76. Given below are two statements, one | 76, el <9 9 feaiet 3mRd, dfedt I
is lallselled a(s I;A;ssertlon (A) and other 9T (A) 3T T g{*lj\ STRT FH (R)
as Reason . )

gl e
Assertion (A) :Green revolution ' '
in Punjab has faam™ (A) : TSEHHA gRaseH afag
resulted in many TRERTEa gae i
ecological problems. e 3.
Reason (R) : Il effec.ts of green (R) : eReaicrs ot fer,
revolution are due
to overuse of land, ol FheRTen Ao
water, pesticides garEn SAfafed aTw ¢|Ido‘3
and fertilizers. 37T,
SeclleCt t.he COtf)‘T‘élzct answer from the {9||Q'1q| r(‘\@(""-ll {'iqulqﬂit{l AL chad Y
codes given below.
& I Fael
Codes : .
(A) Both (A) and (R) are correct and :
(R) is correct explanation (A) (A) =77 (R) S8t sRIeR 3TTed S7fu1
of (A) (R) ® (A) ¥ Iy TICHI 2T
(B) Both (A) and (R) are correct but (B) (A) 3701 (R) 21t SRR 34 T
(R) is not correct explanation 3 R .
of (A) (R) ® (A) ¥ Irg TR0 A&l
(C) (A) is true, but (R) is false (C) (A) SR 378, Y (R) I e
(D) (A) is false, but (R) is true (D) (A) I% 1%, g (R) e 3T

77. In which of the following decades, | 77 wrefiaiist S0 TITHTEE I
total increase in urban population S T 12 T SETE
was more than the total increase in N ,
rural population in India ? T S S
(A) 1971-1981 (B) 2001-2011 (A) 1971-1981 (B) 2001-2011
(C) 1991-2001 (D) 1981-1991 (C) 1991-2001 (D) 1981-1991
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78.

79.

80.

81.

Which article of the constitution of
India defines scheduled areas ?

(A) Clause (1) of Article 244
(B) Clause (2) of Article 244
(C) Clause (3) of Article 244
(D) Clause (4) of Article 244

Which theoretical perspective argues
that social stratification is a device
by which society ensures that the
most important positions are filled by
the most qualified persons ?

(A) Functionalist
(B) Conflict

(C) Interactionist
(D) Phenomenologist

In his functional analysis who has
given the postulate of the functional
unity of social systems ?

(A) Robert Merton

(B) Emile Durkheim
(C) Radcliffe Brown
(D) Talcott Parsons

An Epistemological position that
privileges study of the subjective
position and analysis of context is
called ... .

(A) Interpretivism
(B) Positivism
(C) Negativism
(D) Objectivism

78.

79.

80.

81.
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WA TSI ShIUICHT ShoTHTAT STER

sgfea faum T dan M ?
(A) HaH 244 9 39HaH (1)
(B) ®eH 244 < 3ITHhH (2)
(C) He™ 244 = 3IYHaH (3)
(D) HeH 244 3 ITHhTH (4)

HIHTTSTeR WIS § T HEH 3R <h
A SAfqHgErEl 9] B St A

Hekiloh g WXel! Sl Il =l THS
o o ha¥

!, ¥ fqure shivrar Jgifas g
LA ?

(A) WehTaTet

(B) e

(C) TRfRamER!

(D) TSRS

qrTfeTeh  SIaeATEl wAfcHs Thdl ©
Téldeh e HEicHs faveivmd shrof
e e ?

(A) T 724

(B) tfHa =tfem

(C) Tsfoa® s

(D) 2ToTehle i

JrcarEt fier 9 gweufe favawo
AT HEwel QUIFTT AR YfHehel
.................... 31@ w.

(A) TR
(B) wcHemelae
(C) THRIHKATER

(D) =R
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82.

83.

84.

85.

Gandhi as a thinker gives equal
importance to ................... .

(A) Technological and spiritual
development

(B) Social reforms and political
freedom

(C) Social, political and economic
development

(D) Spiritual development and
swaraj

According to Giddens’ structuration
theory what constitutes the
‘structure’ ?

(A) Values and Norms

(B) Statuses and Roles

(C) Actors and Interactions
(D) Rules and Resources

Which five year plan document gave
primacy to the empowerment of
women ?

(A) Fourth (B) Sixth
(C) Ninth (D) Tenth

The societies that are founded on
extensive gathering of recording,
storage, analysis and application of
information on individuals and
groups to monitor their activities are
called ......cccovvunnnnes .

(A) Surveillance societies
(B) Controlling society
(C) Subservient society
(D) Closed society

82.

83.

84.

85.

JUN - 14219/I11—B

A AT <dld.

(A) IS o AeATfcHsh faem

(B) 9MHIfSeh GUROT & IShid W@

(C) ISR, TStehig o 3nfYfe fasm

(D) 31eTfcAsh faerrd 9 WS

firew A= gEHe fagiagan
"G I oA ?

(A) Hed 3for g

(B) <=1t emfor yfeemt

(C) &hd oTfor STaRfwRan

(D) o= snfor w@med

HIUTAT gEarfsie Aee Afgai=an
HIAATH UM Hewa TH et ofe ?
(A) et (B) werelt

(C) et (D) <

=it et gqgren fwar fafa
FHIATEIS! e fasriiean Afed= Hien

JHTOTER ol Tal, favaoo o SueH

(A) Tl 3THUR TS
(B) faf@ s =
(C) dIeER HHTS
(D) sfics w9t

[P.T.O.



86.

87.

88.

89.

Who stated, “Property is theft” ?
(A) K. Marx (B) Saint Simon
(C) P. Proudhon (D) A. Smith

Reconstituted family is also known
AS ereerreeeenenns .

(A) Blended family
(B) Bi-nuclear family
(C) Stem family

(D) Extended family

Which one of the following is not the
characteristic of a census town ?

(A) A minimum population of 5000

(B) At least 75% of male main
working population engaged in
non-agricultural pursuits

(C) A urban local body

(D) A density of population at least
400 persons per sq. km.

The changes in material culture take
place .......c......... .

(A) At a faster rate than the non-
material culture

(B) Slower rate than non-material

culture

(®)

Simultaneously in material and
non-material culture

(D) At a faster in traditional society
and at slower rate than the
advanced society

86.

87.

88.

89.
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TS AT B SR ST § i

fagm sm® ?
(A) . W
(C) . g

(Yo M
g RIEd HgdTel

(B) T 9wA
(D) T© fEy

(A) Tag o

(B) fsehara sea

(C) heTshed

(D) fowaia wea

ETeAeush! v T e e’ =

ofyrs= e ?

(A) HHEG HET 5000 ATHEEA

(B) geur=l gea gfie clihaeitht
FHAG FH 75% AR foR-
YIdeh] SHIAETE 3T

(C) I Tfes TS |ee

(D) Yok IR Tt /1T shHid e 400
GIER IS CIIRCER

ofifer TRl sgel

(A) ifas GEpduen s T

(B) s14ifass Gharuen fomm T

(C) Wifqsw amfor e1fifaes Hehdmed
T dadl

(D) URURe THSMe TS T ST

MY AT o Hg T
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90.

91.

92.

93.

According to whom, in modern
societies the ‘life world” is
increasingly colonized ?

(A) A. Giddens (B) J. Habermas
(C) H. Marcuse (D) T. Adorno

Who is closely associated with the
concept ‘Mortification of self ?

(A) T. Parsons (B) E. Goffman
(C) H. Blumer (D) G. H. Mead

Neo-liberalism differs
Welfarism in ................ .

from

(A) Private ownership
(B) Flow of capital
(C) Free market

(D) Free labour

Match List T with the List IT and
mark the correct answer from the
codes given below the lists :
List I

(@) Indian agriculture
b)
(c)
(d)

Farmer’s suicide

Decline in farm prices

McKinsey model of development
List II

World Bank
agriculture

model of

(1)
(2)

Economic reform policies driven
by agri-business corporations

(3) Small farm character
(4) Neo-liberal agenda
Codes :
(@)
A )
(B) 2)
©) 1)

D) @)

®)
4)
3)
3)
3)

(c)
(2)
4)
(2)
(2)

(d)
(1)
(1)
(4)
(1)
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94.

95.

96.

97.

Alfred Schutz attempted the critique
of whose theory of Social Action ?

(A) Max Weber (B) T. Parsons
(C) G. H. Mead (D) V. Pareto

Which feminist scholar has
distinguished between two distinct
forms of patriarchy, namely, private
patriarchy and public patriarchy ?

(A) Shulamith Firestone
(B) Sylvia Walby
(C) Bell Hooks

(D) R. W. Connell

Who has been the prime mover in
the formation of the Indian
Sociological Society ?

(A) Radha Kamal Mukerjee
(B) Irawati Karve

(C) G. S. Ghurye

(D) M. N. Srinivas

Match List I with List IT and select
the correct answer from the codes
given below :

List I (Author)
Edward Said
Anthony Giddens
Manuel Castells
Jurgen Habermas
List II (Books)
The Rise of the Network Society

The Theory of Communicative
Action

(3) The Constitution of Society
(4) Orientalism
Codes :
(@)
(A) 4)
B) D
©) @)
D) 3)

(@)
b)
(c)
(d)

(1)
(2)

®)
3)
(2)
(1)
4)

(c)
(1)
3)
4)
(2)

(d)
(2)
4)
3)
(1)
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4)
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4)
3)
(1)
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98.

99.

What is the rank of India as per
Global Environmental Performance

Index in 2018 ?
(A) 141 B) 177
(C) 147 (D) 167

Who developed the concept of
‘generalised others’ in symbolic

interactionism ?

(A) Herbert Blumer
(B) G. H. Mead

(C) Alfred Schutz

(D) Erving Goffman

100. According to Weber, Verstehen

MeAnS ...ccovveenneen. .
(A) Understanding
(B) Causality

(C) Explanation

(D) Analysis
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